Quiz 32 Solution  Fall 2010  December 8
These problems are from Lesson 9 material.
1.
Find the exact value of the following.
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2.
Find the exact angle 
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Answer:  
[image: image11.wmf]3

2

tan

1

-

+

=

p

q

    or    
[image: image12.wmf]3

2

tan

180

1

-

+

°

=

q


_1353337062.unknown

_1353337102.unknown

_1353337186.unknown

_1353337343.unknown

_1353337377.unknown

_1353337286.unknown

_1353337126.unknown

_1353337084.unknown

_1353337007.unknown

_1353337028.unknown

_1353336989.unknown

_1256717136.unknown

